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QUESTION 1

Which cluster communication hierarchy is correct?
A. agent to HAD to GAB to LLT

B. agent to HAD to LLT to GAB

C. HAD to agent to GAB to LLT

D. GAB to HAD to agentto LLT

Correct Answer: D

QUESTION 2

Refer to the exhibit.

WebSG

All resources displayed in the exhibit are non-critical. Which two resources will be taken offline when resource 5 faults?
(Select two.)

A .2
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B.3

E.8

Correct Answer: DE

QUESTION 3

Solutions for which application are available in the Storage Foundation - High Availability Solution Configuration
Center?

A. Microsoft Hyper-V

B. Symantec Enterprise Vault
C. Symantec NetBackup

D. VMware vSphere

Correct Answer: B

QUESTION 4

Which utility is used to add a node to a running cluster?
A. HA Configuration Wizard

B. Cluster Wizard

C. Cluster Configuration Wizard

D. Cluster Server Wizard

Correct Answer: C

QUESTION 5

Which command should an administrator run on a single node cluster in order to leave the application running without
affecting user access?

A. hastop -force
B. hastop -local -force
C. hastop -all

D. hastop -system —force
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Correct Answer: B
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